" Fisher Engineering 86180, 86185, 86190

50 Gordon Drive, Rockland, Maine 04841-2139 » www.fisherplows.com July 15, 2022
Lit. No. 79979, Rev. 06

STORM BOXX™ Snowplow

Steel Trip Edge Pusher Plow
Parts List

A DIVISION OF FISHER, LLC



86180, 86185, 86190

Blade Components

c
3
°
=
7]
°
T
o
=
©
e

tSingle shoe per kit.

July 15, 2022

Lit. No. 79979, Rev. 06



86180, 86185, 86190

86180/86185/86190 Blade Components

Item Part Qty Description Item Part Qty Description
1 78630 1 12'Box Blade 13 72775 6+ Trip Spring Bar Bolt Kit
78631 1 14'Box Blade 14 78621 2 12'Trip Edge
78632 1 16'Box Blade 78622 2 14' Trip Edge
2 78644 2 Brace Kit w/Fasteners 78623 2 16' Trip Edge
3 78607 2 Brace Bolt Kit 15 72774 8t 1 x4 PinKit
4 78634 1 Side Plate Kit— PS (incl. items 6 & 7)| 16 78618 2  6' Steel Cutting Edge (incl. item 17)
5 78633 1  Side Plate Kit — DS (incl. items 6 & 7) 78619 2 7' Steel Cutting Edge (incl. item 17)
6 78646 2  Side Plate Bolt Kit 78620 2  8' Steel Cutting Edge (incl. item 17)
7 83171 2 Label - Logo, STORM BOXX™ 17 78645 2 Steel Cutting Edge Hardware Kit
8 786421 2 Wear Shoe Kit (incl. item 9) 18 78865 1 Shoe Mounting Web — DS (incl. item 19)
9 78647 2 Wear Shoe Hardware Kit 78867 1 Shoe Mounting Web — PS (incl. item 19)
10 78869 6* Spring Bar w/Spade Bolts 19 78664 2  Shoe Mounting Web Bolt Bag
1" 72778 12t Spade Bolt Kit 20 78656 4 Attachment Plate Pin Kit
12 23039 8  Trip Spring — 12' & 14' Blades 21 78657 2 Mounting Hub
12 Trip Spring — 16' Blade 22 78649 2 Mounting Hub Hardware Kit
Item 3 78607 Brace Bolt Kit
23 2 5/8-11 x 5 Hex Cap Screw G5 25 2 5/8-11 Hex Locknut GB
24 4 5/8 Flat Washer Type A Wide
Item 6 78646 Side Plate Bolt Kit
25 9 5/8-11 Hex Locknut GB 27 9 5/8-11 x 2 Hex Cap Screw G5
26 18 5/8 Flat Washer Type A Wide
Item 9 78647 Wear Shoe Hardware Kit
28 2 Shoe Retainer 30 2 7/16-14 Hex Locknut GB
29 2  7/16-14 x 3-1/2 Hex Cap Screw G5
Item 11 72778 Spade Bolt Kit
31 1 5/8-11 x 6 Spade Bolt 34 1 5/8 Lock Washer
32 2 5/8-11 Hex Nut G5 35 1 5/8 Vinyl Cap
33 2 5/8 SAE Flat Washer
Item 13 72775 Trip Spring Bar Bolt Kit
24 2  5/8 Flat Washer, Hardened Type 1 36 1 5/8-11 x 3-1/2 Hex Cap Screw G5
25 1 5/8-11 Hex Locknut GB
Item 15 72774 1 x 4 Pin Kit
37 1 1x4 Clevis Pin 39 1 1" Flat Washer Type A Narrow
38 1 0.2 x 3-3/4 Hairpin Cotter
Item 17 78645 Steel Cutting Edge Hardware Kit
25 9 5/8-11 Hex Locknut GB [ 40 9 5/8-11 x 2 Carriage Bolt G5
33 9" 5/8 SAE Flat Washer
Item 19 78664 Shoe Mounting Web Bolt Kit
25 4 5/8-11 Hex Locknut GB 27 4  5/8-11 x 2 Hex Cap Screw G5
26 8 5/8 Flat Washer Type A Wide
Item 20 78656 Attachment Plate Pin Kit
41 2 7/16 x 1-3/4 Linchpin 43 1 1-7/16 x 6-1/2 Pin
42 2 1-1/2x2-1/2 OD x 1-1/2 ID Doubler
Item 22 78649 Mounting Hub Hardware Kit
44 4 3/4-10 x 2-1/2 Hex Cap Screw G5 T 46 4 3/4-10 Hex Locknut GB
45 8  3/4 Flat Washer, Hardened Type 1
G = Grade

1 Single shoe per kit.

1 12" and 14' Blades require four spring bars, four trip spring bar bolt kits, six spade bolt kits, and six 1 x 4 pin kits.
* Not all fasteners used for all blade sizes.

Lit. No. 79979, Rev.

06

July 15, 2022




86180, 86185, 86190

Loader Attachment Plate Options




86180, 86185, 86190

Attachment Plates

Item Part Qty Description Item Part Qty Description
1 79363 1  Loader Attachment Plates, 3 79365 1  Loader Attachment Plates,
Universal Post CATIT
2 79364 1  Loader Attachment Plates, 4 79366 1  Loader Attachment Plates,

ns 72042 1

JRB 416

Binder Kit for Loader Installations

Volvo L50-L120

ns = not shown

Lit. No. 79979, Rev. 06

July 15, 2022



86180, 86185, 86190

Fisher Engineering

50 Gordon Drive
Rockland, ME 04841-2139
www.fisherplows.com

A DIVISION OF FISHER, LLC

Copyright © 2022 Douglas Dynamics, LLC. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any
printed, mechanical, electronic, film, or other distribution and storage media, without the written consent of Fisher Engineering. Authorization
to photocopy items for internal or personal use by Fisher Engineering outlets or snowplow owner is granted.

Fisher Engineering reserves the right under its product improvement policy to change construction or design details and furnish equipment
when so altered without reference to illustrations or specifications used. Fisher Engineering or the vehicle manufacturer may require or
recommend optional equipment for snow removal. Do not exceed vehicle ratings with a snowplow. Fisher Engineering offers a limited
warranty for all snowplows and accessories. See separately printed page for this important information. The following are registered (®) or
unregistered (™) trademarks of Douglas Dynamics, LLC: FISHER®, STORM BOXX™.

Printed in U.S.A.

Lit. No. 79979, Rev. 06 6 July 15, 2022



